
3,    +     9,    +     27,    +      _____,    +      _____,     +     _____     =

1,    +     2,    +     4,     +     _____,   +       _____,   +       _____     =

5,    +     20,   +      80,     +     _____,    +      _____,   +       ____     =

4,    +     6,   +      9,  +        _____,   +       _____,     +     _____     =

4,     +    2,   +      1,    +      _____,    +     _____,    +      _____     =

   Find the fourth, fifth and sixth terms of the sequence.

2,   +     4,       8,   +       _____,   +       _____,  +        _____     =

9,   +      3,    +     1,    +      _____,    +      _____,    +      _____     =

10,      +   100,    +     1000,    +      _____,   +       _____,      +    _____     =

4,    +     10,   +      25,    +      _____,    +      _____,    +      _____     =

7,    +     14,   +      28,     +     _____,    +      _____,    +      _____     =

2,     +    12,     +    72,     +     _____,     +     _____,    +      _____     =

6,    +     1,   +      ଵ
଺
⎯,   +       _____,    +      _____,    +      _____     =

ଵ

ଷ
⎯,   +      ଵ

ଽ
⎯,   +      1/27,    +      _____,     +     _____,     +     _____     =

2,   +      −4,   +      8,   +       _____,    +      _____,     +     _____     =

ଵ

ଶ
⎯,    +     ଷ

ଶ
⎯,    +     ଽ

ଶ
⎯,    +      _____,   +       _____,      +    _____     =

𝑥, + 𝑥ଶ, +  𝑥ଷ, +  ______,  +   _____, +_____     =
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𝑡ଵ = 𝑓𝑖𝑟𝑠𝑡 𝑡𝑒𝑟𝑚 
𝑟 = 𝑐𝑜𝑚𝑚𝑜𝑛 𝑟𝑎𝑡𝑖𝑜    
𝑡௡ = 𝑡𝑒𝑟𝑚 𝑛
𝑛 = 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑡𝑒𝑟𝑚𝑠

𝑡ଵ = 2

𝑟 =

𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝒔𝒊𝒙 𝒕𝒆𝒓𝒎𝒔 𝒔𝟔? 𝒔𝟔 =? , 𝒏 = 𝟔.

Sum of "𝑛" terms formula 
(if number of terms is 
known)

Sum of "𝑛" terms formula 
(if last term 𝑡௡ is known)

𝑡௡ =

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑠௡ =
𝑡ଵ − 𝑟𝑡௡

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯

𝑟 =
𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯ 𝑟 =

𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯ 𝑟 =

𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯

2   ,    6 ,   18   , …                  , …       ____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ଷ

____
𝑡଺

____
𝑡௡

× 3× 3

Geometric: r must always be the same

OR

𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒂𝒏 𝒊𝒏𝒇𝒊𝒏𝒊𝒕𝒆 𝒏𝒖𝒎𝒃𝒆𝒓 𝒐𝒇 𝒕𝒆𝒓𝒎𝒔?

𝑟 = 𝑟 > 1, ∴

𝑛 = 1 𝑛 = 2 𝑛 = 𝑛

??

𝑛 = 3

𝐴 𝑡𝑒𝑟𝑚 𝑑𝑖𝑣𝑖𝑑𝑒𝑑 𝑏𝑦 𝑡ℎ𝑒 𝑡𝑒𝑟𝑚 𝑏𝑒𝑓𝑜𝑟𝑒 𝑖𝑡

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 2 + 6 + 18 +

𝑠௡ =
𝑡ଵ − 𝑟𝑡௡

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯

𝑟 =
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2, 4, 8, . . 3, 9, 27, … 5, 25, 125, …

2,
1

2
⎯⎯,

1

4
⎯⎯, …

8, −4, 2, … −6, −18, −54 5, 10, 20, …

9, −3, −
1

3
⎯⎯, … 27, 3,

1

3
⎯⎯, 

1, 2, 4, … 10, 100, 1000, … 0.3, 0.33, 0.333, …

Find the sum of the first 6 terms. 𝒔𝟔 =? , 𝒏 = 𝟔

𝑠௡ =
𝑡ଵ(1 − 𝑟௡)

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯⎯⎯

Find the sum of the first 9 terms  

Find the sum of the first 11 terms.

Find the sum of the first 5 terms.
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2, 4, 8, … . . 256 3, 9, 27, … … . . 729 5, 25, 125, … … .3125

8, −4, 2, … … . .
1

256
⎯⎯⎯ −6, −36, −216 … … … − 46656 5, 10, 20, … … … 160

27, 3,
1

3
⎯⎯, … … . .

1

2187
⎯⎯⎯⎯⎯

1, 2, 4, … … .65536 10, 100, 1000, … … .1000000

Find n, and the sum

𝑡௡ = 𝑡ଵ𝑟௡ିଵ

𝑡௡

𝑠௡ =
𝑡ଵ − 𝑟𝑡௡

1 − 𝑟
⎯⎯⎯⎯⎯⎯⎯

2,
1

2
⎯⎯,

1

8
⎯⎯, … … …

1

512
⎯⎯⎯ 9, −3, 1, … …

1

81
⎯⎯⎯

0.3, 0.03, 0.003, … 0.00000000003
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